TT-Formula/RS SAJ FULL EXHAUST 'DI/I—R
Titanium+Titanium

E 'd
for HONDA Monkey 125 ,ﬂagw%

Part Number:22-012-46/22-012-50
JMCA No. :JMCA1018014140 72 012.25/201510

Part /QT

Silencer 1

Exhaust Pipe 1

Mini TT Silencer Strap 1
Monkey125 TT Muffler Bracket 1
Spring 2

Controller Bracket 1

M8x40 Bolt, Cap 1
M8x25 Bolt, Cap 1
M8 Locking Nut 2
M8 Washer 3

Warrenty




)
) 2 )

M8x40

M8 Mg (3 )

M8x25

10

'DI/ IER 513-0836 7678-5

o

’ﬂ ac Tel 059-379-0037 Fax 059-378-4253
E-mail shop@over.co.jp Website http://www.over.co.jp

16-012-46/201811A



[ 7 6
[ 7 7

'DI/IER 513-0836 767825

4

'ﬂ ac Tel 059-379-0037 Fax 059-378-4253
E-mail shop@over.co.jp Website http://www.over.co.]jp

22-012-25/201811A



